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1. Answer the following as directed (any ten) :
1x10=10

RotrpiR e Tee fr (R @ 7o) -

(a) Moore was a symbolic language analyst/
ordinary language analyst.
(Choose the correct option)

T 9% AOFNF SHI-RewE / AR S[-
faces wnfee |

(o Rasce afe Tfepsan)
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(2)

(b) The essay entitled, The Refutation of
Idealism was first published in the year

1901 / 1902 / 1903.
(Choose the correct option)

The Refutation of Idealism A 2=
TP ANIRE I3 dSd0d [ ddo’ / 3509 B3
oM 2R |

(o Reach! MR Tferedn)

(c) According to Russell, ‘A gives B to C 18
an example of atomic / molecular fact.
(Choose the correct option)

e WS, ‘A 9 CF B fiew’ (A gives B
to C) 981 ARNARF / AR 61T BRI |

(wm s AR Bferean)

(d) Who authored the book, Some Main
Problems of Philosophy?
Some Main Problems of Philosophy 2®34
I 51 R 2

(e) According to Russell, “Existence is
essentially a property of a proposition.”
(Write True or False)

MW Vo, ‘AFY B G T rRR 8
ST T |’
(371 A o7y ferd)
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(3)

(f) ‘A Cabinet Minister’ is an example of
ambiguous / definite description.
(Choose the correct option)

‘qoe (@R W@ @2e @b sfAfE /e
ISERRERGGESCN

(s Resco afz Sferean)

(g) Who is the founder of Vienna Circle?
S v AfSoF @ 2

(h) The lecture entitled, ‘“The Philosophy of
Logical Atomism’ was delivered in the
year 1917 / 1918 / 1919.

(Choose the correct option)

““The Philosophy of Logical Atomism”
TfF IGOM 5534 / S5O / 353d HY®
A 91 (2R |

(W st aifz Sfersan)

(i) According to which contemporary group

of philosophers metaphysical statements
are meaningless?

AP @M w6 (group)d Tce
Sffamrere [yfonz we@ 2
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(4)

(/) An analytic proposition is a priori /
a posteriori proposition.
(Choose the correct option)

Romme v 9o Sfewerl [ sfewers
w4 |

(= Rewco AR Tfersan)

(k) *‘A name refers to an object.”” Who made
the statement?

‘1 A Rey %31 379 PA 177 IARR @A
(fet 2

(I) According to later Wittgenstein, ‘‘a

pictorial form is a logical form.”” Is this
statement true?

IO TGRSR o, ‘Pofee wE @ o1
o weE 1”7 @ R oA 2

(m) ‘‘A propositional function can be either
true or false.”’ Is this statement true?

¢ qBT TGS T O HET SP79) 2] AR 1

9% RIFECHT 375 2

(n) Name the book where Wittgenstein
included the language-game, namely

‘““translating from one language into
another’’.
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CRGOBI (B (I WS “'abT ST
o S SRRA SRR FAT X STI-FIGIC]
wEyE MR, O XL T for |

(o) ‘‘Socrates is dead.”” Is this fact negative
according to Russell?

‘iR W YO I @} O (fact)Bl AT
TS FR@LF WA ? |

(p) According to Wittgenstein, ‘names’ are
simple / complex symbols.

(Choose the correct option)

TR W, SN TH /G [/ o
A |

(o ReEco! AfR Tfersan)

(q) According to early Wittgenstein, the
world is a totality of facts / things /
propositions.

(Choose the correct option)

oRST  TW[RABTNR WS, wIAOIH O

(facts) / IR (things) / 359 (propositions)3
AR |

(o Rewd afR Sfear)
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(6)

(r) Early Wittgenstein / Later Wittgenstein is
a symbolic language analyst.

(Choose the correct option)

JRfST TIRITBRR ) o[ID  TIGealEBRA
OE AOFTTS SH-ReEs |

(o= RFsco! qfr Sfeysar)

2. Answer the following questions (any five) : 2x5=10

fAGre opies Tes fry (R @i +foo) -

(a) Why did Moore distinguish between

consciousness and object of consciousness?
Give two reasons.

TR OO WF GoR REaregs gws [y <1<
frefa wfafe 2 wo1 I foan o

(b) What are the three different meanings of
the copula ‘is” according to Moore?

T/ e W MARIGR ot o o

ISR
(c) State one difference between ‘I met
a man’ and ‘I met Jones’ according to

Russell.

TCER TS, W G T 23 751 AR 0F
TR TR A iR g3 Yo TES 2
95T N forey |

P



(7))

(d) State two characteristics of logical
positivism.

OH AR O (AT e |

(e) What are the two meaningful propositions
according to the logical positivists?

OF SfePHMPTFs qco Hfof 57 701 5 5 2

(f) What is ‘fact’ according to Russell?

q(eq o o’ (fact) fF 2

(g) State two differences between name and
descriptions according to Russell.

FICRET W@ A AF [GR oo L1 701 A1
ferar | |

(h) Why does Wittgenstein refute picture
theory of nmeaning in his book,
Philosophical Investigations?

CRQESHAR (©Eq Philosophical
Investigations 2¥e & f@ wgbl 499
fafee 2
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(8)

(i) What is atomic fact? State after following
Russell.

R o 3 7 qceer PR FR T

() What is ‘state of affairs’ according to
Wittgenstein?

TIGCRABZAT O fefs’ (state of affairs)
=9

3. Answer the following questions (any four) : 5x%4=20
fare ez el (R e wif¥51) -

(a) Why did Moore refute Berkeley’s
statement ‘esse-est-percipi’?

ﬂ;ﬁﬁiﬂﬂ#ﬁa‘w@ﬁmﬁ@’ﬁ-{m
ASIT B[R ?

(b) Why did logical positivists try to
eliminate metaphysics from the domain
of philosophy? |
UL SE S eI c IR e CE e UL SRR
SfARE HPTRT IR 2ACHRT FoA1RIRE 2

(c) Write a short note on Verification theory.

T Ogd REc @b 55 Grer foren |
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T —————

(9)

(d) How does Russell demonstrate the
proposition ‘‘Scott is the author of
Waverley”” by analyzing it into three
simple propositions? Explain.

= “‘Scott is the author of Waverley”
T T Fof! e qowea Rearsd I

CTRRIRCR ? R 40

(e) How does Wittgenstein use language as
tools? Explain.

TR Ry SRR Sl f2hie e
3= 2 I 91

(f) Explain the relation between meaning and
use according to later Wittgenstein.

a3 TARATARITN Weo Y HF AR &S
2l ST T 91|

(g) Write a short note on Vienna Circle.

Rogge 5@ i «@ft 5 G T |
(h) Write a short note on language-games.
S-S cd o 5 G o o
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(10 )

4. Answer the following questions (any four) :
10x4=4()
Hae enpryze Baq e ([ e vif¥sr) ¢

(a) How does Moore refute idealism?
Elucidate.

A @S SRAM g FfRfRe 2 =
SACEAB 1 |

(b) How does Moore defend commonsense

through his paper entitted A Defence of
Common Sense? Discuss.

bS| (983 A Defence of Common Sense
T AT GRS @EME MR @S
L FRCR ? A F91 |

(c) Explain different characteristics of analytic
philosophy.

fRemeras it R[fen @REpmz a0

(d) Discuss the various kinds of propositions

put forward by Russell in his The
Philosophy of Logical Atomism.

9= (S$3 The Philosophy of Logical

Atomism © HIHEGRI [fSH oy 359 &Ry
HCAD] 4T |
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(c)

(1)

(g)

(h)

(i)

A23/302

(11 )

Explain Russell's views on propositional

function and existence.

PAYF Fol WF GBY IwiF q[esd 4 747
41 |

Critically explain Russell’s theory of
definite descriptions.

IR [AE R ogdR SmEsaIe AR
HISRCERT |

Explain picture theory of meaning by
following Wittgenstein.

TR Seprad IR W B wGCh WA
0 |

Illustrate Wittgenstein’s ‘Private Language
Argument’.

TR U@ SAR YO FRary
S 9 |

Discuss Wittgenstein’s concept of ‘Family

Resemblance’.

TR RAfRE NPT (e
STCETS AT |
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(12 )

(j) Elucidate philosophical ideas of
Wittgenstein as reflected through hjs
book, Tractatus Logico-Philosophicus,

TR v MR (e
Tractatus Logico-Philosophicus 5w s
AfFfers arw, T2 foe |

* %k &



